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[Participant ID
Participant Name
Test Center Name.

Test Date 03/09/2019
Test Time 8:30 AM-10:30 AM
Subject GRADE IV DASS JUNIOR ASSISTANT

Section : Mental Ability1

Q.1 e F=fafEa us & Ry 7g fAeeal § 9 a0 s1ar/2rs /e &t gfAg|

DAC:EBD::HEG:____
Ans X" 1. JFH

75 2.KH
o 3.IFH
75 4.HF

Question ID : 54592722027

Q.2 fA=fafEd ust &, U u= & 15 &t hrdardl | 3R 11 &1 SMTUeh! 39 F YU hl T AT hR ad AT
2 for & it <) Frdardl § @ i 91 arfhes =0 @ 9 21

FUA:
WRA # a1 UGUUT Wk & &R 0 Ugd @l 8l

srdenfaar:
1. Frenerenl w1 ufae
1. YR & UgfAd TR aret safRal sl @ior & fog g 3T wda afafa o1 mea w11

Ans X 1 et e | SIgERT @R &
75 2. Sherer e || SERoT ahal @
of 3. @ oft freend srgaror e awar
75 4. Fremd | 7 11 SR el &

Question ID : 54592722037

Q.3 YR Uk &hell & 14 @ gidiad T iR ok iR @ 91ad T R &1 39 el A fohas o= &7

Ans  of 1 40
K 2.42
/K 341
X 4.39

Question ID : 54592722034

Q.4 S{Ed # Ted Ug @iei?

AD, BH,CL,DPET
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Ans " 1 BH
o 2.0l
/X 3.0pP
X 4.AD

Question ID : 54592722021

Q.5 fRu g faseal & @ fww wma &R
Ans  of 1 @

X 2. R

p

/X 4

Question ID : 54592722022

Q.6 @ieH | # Ry g s1erl & Ffaif@a wwgl & forg, @viem 1|  ge R g &1 Ry g svfem &
gl & fOIY Fe Eeahe U T IR 2

Column T Column TI
(A) kill dog cat NEX

(B) tape Kill matcat | X EZV
(C) kill mat jeep tiger| X VWA

KIL % forQ e T 82
Ans X 1w
K2V
o 3.x
K4z

Question ID : 54592722030

Q.7 s Rafaf@d usr & Ry g Reredt d @ Tefda et ot glgl
el : aTet :

Ans  of 1 =g afm
/X 2. sreafifna (aofd) : o
/X 3. g : R
75 4.0 Al

Question ID : 54592722026

Q.8 31T g hlSTd, FgT, YsTI, 3isqH, ¥, i, uisifar sik Sfiawt ot geps Hieft Far & s i sk g
ek ST AT 8, SR st g ok St ohe A 811 Sfiae Y & e st SRR dsT 81
Sfte iR Vet & 7 dhaer IR @1 43 &1 Freret ok gum &A1 ST & Fereaw aSieh &1 gem
3R givifer & i dhaer &) v A3 &1 wiwifor, Sfra= H gea o 7€ &1 sigH, forar & ad & g
TYH R AST 1

FrafafE@a d @ o9 gon ofik uistfer & o aag d dod &2
Ans X" 1. fora, St

75 2. sigE,
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J&W,ﬁm
/X 4. 3icH, Freet

Question ID : 54592722031

Q.9 S3FTAT UE AT 3

A5D, F15l, K25N, ?
Ans X" 1 La4p

75 2.N44s5U

/X 3.Ma41P
of 4. P35S

Question ID : 54592722020

Q.10 fehrehed: fAdser, oo, enfecy ik AERA auT atea: o, AT, RAwRA ofk AR d @ uig
eI T SHU T AT ST &1 95g | o 9 A 3 fohdher 19 a1fgul greifeh:

(i) Freter = A= & 91y 1 A | SRR & R
(ii) 25T 2 O & 9T hH A D FehR e ATl
(iii) a1 A AT & 1Y &1 FA @ SR R T
(iv) w1gfae 7 AgT & 1Y FrT FA F SR = R

afg 30T &t AT ST 8, @t g A iR wiw e =u @ gvm?
Ans X1 e
W 2 s
X 3.5
X 4 Fraw

Question ID : 54592722033

Q.11 = Ry mu R=faf@a usr 7, ag e g7 5t usifRg f swrg o o= i & v sjaen & g
HaT | gg Uy Rg fAeeu & &u d Rar mar 1 9@ faeeu ot wra fifSal

280,271,264,259 ,?
Ans X" 1125
W 2256
/X 3.250
/< 4.252

Question ID : 54592722038

Q.12 fag g fAereat & @ faww s 7ira &1
Ans X 1 (mierhioR : GeaTe)

X 2. (@ : frdve)

J& (dte TS : i)

K 4. (R afcfsirr)

Question ID : 54592722024

Q.13 Ry g faereat & faws @& g1
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Ans "1 FH
/X 2.as
/X 3N
o 4R

Question ID : 54592722023

Q.14 f&sr: Ry wg et d & Soft § g s1eR &t 719 F:
LO TW BE 2?
Ans X 1T
< 2 HL
o 3.0m
X 4

Question ID : 54592722019

Q.15 Uak fAfya e o &, afé GOLDEN 21ez @t GLEODN & w=u & sifea fawar irar &, af sq wron &
PLATINUM 2reg, aht @ shifaa forar smam?

Ans X" 1 LAIULTNM
o 2. PAILLTNM
75 3. PAUILTNM

75 4. PALUITNM

Question ID : 54592722028

Q.16 3118 ASfhai A & H &l 9R @<sfhal & &t o1 | e 941 o forg o g1 Fafaf@a aegs €

(1) B 3R H <kt Uas 91U ST 81
(2) D 3R F =h! Qe 1Y =T} ST 21
(3) A 3R C it a1y 78 & &1

afy B 3fik C ugat ¥ & 514 &, 4t fm1 7 @ i1 91 g S A g geRar 87
Ans X" 1 ADHS3RG
75 2.ADFRG
o 3.ADEMRG
75 4.ACESRG

Question ID : 54592722035

Q.17 W fAfa sl wrwr &, af2 Arees &) i+ gt sirar @, N9 6 9o gt ST &, 994 6t 9 el
i gt STrar &, foR 39 wTeT F 91 o1 1 9T @2

Ans X" 1 fonehe
X 2. e
W 3T
X 4.ofe

Question ID : 54592722029
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Q.18 fAdar: i g g uer & N9 HY_ R 39S a1g g} fAserd g g &1 el Ry g el 6l I
AT & 9 g1 3 g a4t @ 9= udia gia gt 9ft Rt ) ufew R ag fifSe 6 g o
frserut & & e A1 ahETd FU § SITERUT T &, T A 9 TS Hi gl

HY:

1. gt &ret, gthe €1
II. 9ft Thg, AR &1
. gaft i, et &1

fArsentf:
L9t Tthe, &1 &1
IL.9fY &ren, Ay

Ans X" 1. gfe et Fsehy | T &
/< 2. aR A& s 17 11w g
75 3. aR o e a1l T &
of 4. afe Faet frsnd 1 v @

Question ID : 54592722036

Q.19 e Frfaf@d usr d g mg fRereat & @ Tefda 2rsgt =t gfAg)
AT : 9@ U
Ans X 1. 3IRME

X 2 R

/X 3.=m@
4w

Question ID : 54592722025

Q.20 et sarer Wikt e Iast € weht oft gkt aiger i e Rrre it g & wid aik Afga & g
# wgft &1 i+t i iz ger B g A A &, AR der i goren J geht &1 AR i iz frre
&Y gor 7 wgaht &1 at werst weht A o mifere w82

Ans & feRie
W 2. &R
X 3.
X 4.3

Question ID : 54592722032

Section : Mental Ability2

Q.1 FafafEa us & g g 9 Hifg|

1 2 3

11| 7 5

120| 45 ?
Ans " 117

K 2.19
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o 316
/X 415

Question ID : 54592722044

Q.2 F=fafad usr & fRraw T aret g / 99 &t gfAgl
Ans X' 1.72:12

/X 2.78:13

X 3.114:19

o 4119:17

Question ID : 54592722041

Q.3 Rfga gl (), (@), (@) ok () F @ Hiv Rt o a1 To=a & Ua &1 onuet ag S
T+t gt &t fwmr / R &t

(@)

Ans

Question ID : 54592722053

Q.4 fA=faf@e vea # Ry e Reeul # @ wwaf~aa srer/ e/ &t gfAgl
(240,251,264)
Ans  of 1 (320,331,344)
/X 2.(320,331,343)
75 3.(320,329, 344)
/X 4.(320,330, 344)

Question ID : 54592722043

Q.5 f=fafae vsr d, siaen 7 Qo den e 81 e & 75 hifag)

124,172,228,290,364
Ans X" 1364

X 2172
/X 3.124
o 4290
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Question ID : 54592722047

Q.6 fRg 7Y usr # IR srpfar e RfSig S usr spfar wfafga &1

ma [eg
|
Ans
r
]
X 2
j&l
|
X 4

Question ID : 54592722056

Q.7 A € IR Tepfa e srepfar A def &t grr wvfi?

Ans

X 3. =




www.HaryanaJobs.in

Question ID : 54592722057

Q.8 Ry fRwmedl & @ TE IR FAHRR AT Rl [T HI

WA HFicd

Ans

v

Question ID : 54592722050

Ans

2,10, 34, 105, 322

o 1.105
75 2.10
/X 3.34
< 4.322

Q.9 f=fafae vsr d, sjen & Yo wen e 81 T S 71 Hifag)

Question ID : 54592722039

Ans

T e

><1.

Q.10 FA=fafEa & & w19 a1 Reey &g siepfa Hit 9éle adur i &2
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Xz

Question ID : 54592722058

Q.11 Ry 7g srgetra: fAeg + ofiR <, 3R T 9 3R 6; & IFHAR 9 + 6 + 3 - 7 & A T gHIN?
Ans X 1.9

W22

X 36

X 44

Question ID : 54592722045

Q.12 g 7g Reredt d & A= @ &t g
Ans X1 164

/X 2.36

/X 398

o 4171

Question ID : 54592722040

Q.13 A fRw 7Q ust &, Uek YA & a1g &t e fiw 71q @1 snueRl Ry 7Y A &l 9 AT 8, e
& 2 3w aat @ f= g ok foR aa R for fRu 1 =t & @ = @7 FAreerdf anffias wu @

STTERYT el B

He:
S=A<P>R=T<U
e

L1T=A

I s<T

Ans X" 1 aveet e |1 SREROT el &
7 2. erer e | SER0T g @
of 3. 3 ot Frsaf argeror 78 awar
75 4. Fremd | a7 1| SrERoT @R &

Question ID : 54592722046

Q.14 39 theteh UR feigail it T uga™ sit S were wR 1 foig gt 3us Rvda &
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. 8 . L] L] 8 . L
e . : : l. :"I * °
e oe . T "o
] L] L L]

I il 111 v

Ans X-]_-]

26
X< 3.3
X 4.4

Question ID : 54592722055

Q.15 fr=fafea & & «i= o e o / Fi / J1R / okt T / g1, weltern / WieT ok gew & g
Heie i garfar §?
Ans

~©

X2

Question ID : 54592722048

Q.16 Ry g Afgew & g s 71a HifSiQ

JAN\VNEN

Ans

\
X
_|__
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x4

Question ID : 54592722052

Q.17 & it sepfaat & 9=, YU o=t arel o, Strad, AfRT a1 A art &t 3iR P, deng g
areit ot gfar &1 i H ST YEUT A arel it g2ufdt § St darg gard &, afeh R g
dia &2

Ans (1.2
X 26
X 3.4
X a5

Question ID : 54592722049

Q.18 g g faereul d & Tl IWR TR Sj=aT ol QRT3

W IFicd

Ans

.
e
<

S

Question ID : 54592722051

Q.19 Ry 7 faww e @t g
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Ans X" 1.71,73,37
/X 2.37,59,53
/X 3.11,17,53
of 4.31,36,17

Question ID : 54592722042

Q.20 1= & 7€ emrepfar F foraa anf 82

Ans X1_7
X 25
o 3s
X 4.9

Question ID : 54592722054

Section : General Awareness1

Q.1 2019 & YRd oh1 GaId HR I -1 8?2
Ans X1 mermes

X 2. IR
/X 3. dftrerrg
W 4 werE

Question ID : 54592722064

Q.2 U] af3Tl # Haure (egHehiuR) & wu A fhe aw a1 sugi farar s &2
Ans X 1. GRREm

X 2. i
o 3. 6w
X 4. @

Question ID : 54592722069

Q.3 F=fefaa 4 @ ford 2019 & Shend (vimifores Tdha) fear mar @2
Ans XTWQT

o 2 Feergd amw

75 3. det <@
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/X 4. qRewem el

Question ID : 54592722061

Q.4 fA=fafae d & FiF-ar Iuwor gug Y 78S ol JTgan g?
Ans X" 1 areiieR

Xz.q:ﬁnﬁrﬁa

o 3. iz

75 4 Refi

Question ID : 54592722072

Q.5 S[ETS 2019 deh IUSY SRR & STAR A1 g T T &2

Ans X" 1178
< 2.167
X 3.218
o 4130

Question ID : 54592722070

Q.6 f=faf@a d @ #9-a1 = e R 87
Ans X1 deuaR

75 2. amER

o 3 R
75 4 ggamaR

Question ID : 54592722063

Q.7 T & R gar & afi af & weet orgafeua 1 &
Ans B 1 ey

fz.engaﬂﬁg

X 3 e H g

X 4 dgmus

Question ID : 54592722071

Q.8 RIMES Rulé gR1 fore ashard @l 'gefwa geist gl 7T 8?7
Ans  of 1 forch

X 2.

X 3w

/X 4. FreioR

Question ID : 54592722076

Q.9 et arftfer urHioT Taesar adaror 2018-19 & IIgHR UTHioT WRA & foRa= ufarere o= # e
R gaarg?
Ans X" 1942 vl
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/5 2.94.5 ufdera
o 3.93.1 vfer
/X 4.93.4 vz

Question ID : 54592722067

Q.10 WRA & Ha& YRMT ae &85 gl 7aa 8?2
Ans X 1 qfterrg

o 2. e

/X 3. 7R

75 4. sruTrEe

Question ID : 54592722078

Q.11 TS+ 9=+ 2018 | frd wwafa favar war ar?
Ans X 1 gfear e

X 2. 4. srere <t

o 3 s

75 4. 4. ST IR

Question ID : 54592722060

Q.12 frefa= A & @it forg af g8 A7
Ans X" 11911

X 2.1913

75 3.1910

o 41912

Question ID : 54592722073

Q.13 31FT Sieeft & 2018-19 & FvTe WTHOT & R VR fohd STUR TR HieR T wR 8?7
Ans X 1. G Iares

75 2. e wreger P

75 3. g e IR

o 4. 7 o

Question ID : 54592722065

Q.14 3 7 @ -t Sonfa SrvuITae ver # gt 82
Ans X" 1 stel STt

X 2.3 sy

75X 3. sty

W 4 R Sy

Question ID : 54592722075
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Q.15 ______ R Sufeyfa & FRUT THIER oAt &1 &1 gt 21

Ans

P SRRCCiEE
X 2. e ddm
X 3 gl
of 4 e

Question ID : 54592722068

Q.16 YRd & fohT Isg & TR war-i A« S forar strar &2

Ans

o 1. o iR FuER
X 2. amm
X 3. o
/X 4. mERE

Question ID : 54592722062

Q.17 ZFhIeT QA TugTerd, AfOTGR @t fohe 21 7 SugR d R ar?

Ans

X 1=
75 2. s
o 3. o=
R

Question ID : 54592722059

Q.18 fA=fafEd wya R faaR &3:

Ans

. IaTE Tiy areft 98 = [ffa 21
1. = " a1 fAafor s € o= foRar mam 21

PIF-AT YT T 8 ?

251 1R 11
X 2. Faw Il

o 3 &=

X aadian

Question ID : 54592722074

Q.19 YRd & fra Tog & ur+it Aeeh 6t was =5 vonfa urs mf &2

Ans

F G
75 2. st
75 3. sifRan

of 4 om

Question ID : 54592722066

Q.20 wHars it i 3wt gr1 fRefa & 8, fora g ST sran g 2

Ans

X 1. RifR areddem
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/< 2. dadam
X 3 maEdh
o 4 FR A

Question ID : 54592722077

Section : General Awareness2

Q.1 fore aef & Mar wr gehmferat 3 sheen & o ar?
Ans X" 11410

o 21510
/X 3.1610
75 4.1515

Question ID : 54592722081

Q.2 AT G A & THT YR I GAERTY I AT?
Ans X" 1 qré fe

/X 2. aaw

X 3. @it TamamE

of 4 FERRE

Question ID : 54592722083

Q.3 MR agzamd?
Ans &1

X 2. @i

o 3 54

X 4. Rt

Question ID : 54592722079

Q.4 ¥RT HRAYH & AFFAR, IS T ISTUTT F-9 & forg forelt aafen Rt =aw oy a=m g+t
=Tfeg?

Ans X" 1 50ad
< 2. 40
/X 3.459¢
W 2350

Question ID : 54592722094

Q.5 ¥Ra # 9 g gare & 9Ran s @ frar?
Ans  of 1 s

75 2. wEgR M- |l

/X 3. IR
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X 4.9

Question ID : 54592722084

Q.6 R TR HT RIF-UT ATede WRA & AT ATANT ot Fraw iz R Ader St et ot
SR UG heat 82

Ans X" 1. argee 322
/X 2. s 323
o 3. e 324
/X 4. e 325

Question ID : 54592722092

Q.7 ¥ra d fAmfaf@ea d & fore urq o1 ugsht ar suahT fvar war ar?
Ans X1 Tid

o 2. amar

75 3.

X 4 vegfafmm

Question ID : 54592722080

Q8 TmES' & __gRifearmar gl
Ans X" 1. sRreh SiteTEn

o 2. o=, ARE

X 3. @ are

7 4.9 sifes

Question ID : 54592722091

Q.9 frd 2rex # siarfdta siiwiftes |fafa (10C) 7 srom geaTera @ler &2
Ans X' 1 dwe

X 2w

75 3. e

o 4

Question ID : 54592722098

Q.10 fFe YR SqEr 3 ¥Ra d ugen fohdhe aera wuTfae frar ar?
Ans x1%§

X 2. Rea

o 3. o

X 4. gfem

Question ID : 54592722096

Q.11 =61 iR At raredt §61 g & i FiF-91 Agrerus 9as rfraret ur?
Ans X‘]G]Tn
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75 2. st
of 3.7
/X 4. TR

Question ID : 54592722085

Q.12 21f == A F=faf@a 7 9 9 -+t ywae foeht 82
Ans x1q|gagf@m

75 2. gegen

W 3. g IR

X 4. drafres s

[ Question ID : 54592722090

Q.13 areR utwit &9 # fha R« gl &2
Ans  of 17

X 2.8

K 3.9

X 46

Question ID : 54592722097

Q.14 ¥Rd # foifeer e & <= forw gurR ar «if e & gaemml ot srent Rataes e far ar?
Ans X 1 HidyaweiS guR

o 2 #Re-RD gur

/X 3. A g

X 4. e a st

Question ID : 54592722095

Q.15 F=faf@d # @ 9-91 (FhR YR 1 ald AnTReS qREhR 872
Ans X" 1. gar-Ragwor

o 2 sRa-

X 3. wErsh

/X 4. garsgor

Question ID : 54592722089

Q.16 =A<l FUST A Ao foras @2
Ans  off 1 TR
25 2. srehg ma

P R E
X 4 s

Question ID : 54592722086
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Q.17 f=fafEa 9 | fras ufig e g St oorde smmam?
Ans X1 wifE e
X 258 R
o 3. R IR
X 4. dfee e

Question ID : 54592722087

Q.18 Htaret 2nifa QRERR fore a1 grRY R simar 82
Ans X 1 Hezeve

X 2. argEde

/X 3w

of 4

Question ID : 54592722088

Q.19 fFr=fafad & & @wi-d 7o garf ofik 2R e @t & fa @ A2
Ans X 1 urfiud d g

X 2wt @ gg

p e

W 4 g

Question ID : 54592722082

Q.20 YR e & PAmfor & ki fora 221 & d@fu= @ ' & dantes 6 ufsrar < 78 &2
Ans B 1 e

X 2. amRdie
W 3. 2o anfre
p R

Question ID : 54592722093

Section : Arithmetic Ability1

Q1 Rrer- RrfalEd yest & yesaras feg (7) & €U 9 FA1 M1 91g T

72y 23 99439643

23

Ans \,1.3
X 2.9
/X 3313
75 427

Question ID : 54592722103

Q.2 s Fafaf@a uer & saras Rg (?) & T WR @ o= anfge?
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3x0.3%0.03%0.003x30=?
Ans  of 1000243

/X 2.00243
75 3.0.0000243
75 4.0.000243

Question ID : 54592722100

Q3 xEsr: FraToEa vea & Yearae [eg (2) & T 9 47 7T 91802
3 of413 +20f 615 =19
T 5

Ans  of 1 423
/X 2.433
X 3.792
X 454

Question ID : 54592722101

Q.4 fa=fafEa d @ w9 @ g sy daT @2
Ans X" 1323

< 2.437

/X 3.567

o 4241

Question ID : 54592722108

5 rder: TR ve 3 SReTaras fieg (2) 3 T 9K F 47 HAT AR
(0524 (0.22+2 % (0.5)(0.2)=2
Ans X" 1039

/5 2,094
75 3.0.69
o 4049

Question ID : 54592722099

Q.6 ek ATURY Yeh a¥g ol 39 g Sifcha Tear g foh 3 sifchd g = s== R o1, s gea &1
70% gtar & AR a8 3ha Tea o 150% AT UR a¥q ! et 81 af &t e geal & offer ofar
1750 &0 &1 15% T R S+t R fasha geg A1 @l

Ans B 12845 wud
75 2.1255 =@
o 3. 24150
/< 42210 ®0d

Question ID : 54592722117
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Q7 & shargel &1 RfEwE o 7:5 & I F ¥ O gEEEN TH AATT W 28% B ge
gar 81 TR & Aarsel W EAT §T 20% ¥ gEY AT W gHEEN gl & A aell 3T

&1 el oy

Ans  of 1 gufyaa
75 2. 10 ufazr
75 3.12.50 ufasra
75 4. avfaza

Question ID : 54592722111

Q8 oy Trafafag v & vedaEs e () & T 9% T AT argu?
630 T - FHT= T~ =7

Ans X" 190
5 2.75
/X 3.45
W 460

Question ID : 54592722102

Q.9 2 aferal arfAer ok Gefier & uTe &9 3: 4 & srquTd | &1 oS 5 =T & dar @ e SepaT @
3R griiet 6 et & G @< o |ahar @1 T Srueft AR R & a1y 9 @ ed €1 fora=t Rt
oh 9Tg IRt 99T 9: 20 & IrgUTd | ghm?

Ans  of 1 4R
X 2.3Ra
K 3fRa
K 42Ra

[ Question ID : 54592722118

Q.10 ¥, A R At Y 3T oy 34 a¥f &1 TTd Tiel Uget Hig=T hY I T Ui TAT, Iid |1eA
uget A i 39 & IR AT & aR1eR A1 G i addr= g 1 A 41, W Y adqmT omg b
31 AT & SRTER &1 Ui |Ie 918 A i 39 R gt ?

Ans X1 28 e

/X 2,399
/X 3409

of 4 359

Question ID : 54592722110

Q.11 (5 g E)a?r 2_

6°10°9
Ans X" 1720
W 2360
/X 3.1440
75 4.2880
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l

Question ID : 54592722105

Q.12

Ans

TF FEET &, ; FHARY GET §1 40% TET AR 60% AR & a1 4 - e F1 40% IF7 3 m%

e e ar 4- o &, Rrarfya &1 4l dor 25% 4 - Fror nfors ety §1m o Far d?
o 11166
/X 2.13555
/X 3.12.33
75 4.9.09

Question ID : 54592722113

Q.13

Ans

T GEHIAGR "2 WG 1 JFd w--m#:&mgmssg%mmmgnmma:ﬁm

eI X SHEHT A% A FY
75 1. 200 ufdera
75 2. 50 ufazra
/X 3.75 ufazra
o 4100 sfera

Question ID : 54592722115

Q.14

Ans

19541742 fA=faf@a 9 @ forg @ Rarsa &2
v ERY
K 212
/X 313
X 4.9

Question ID : 54592722107

Q.15

Ans

Bg Hfeal Ter AfYd 999 W U 91 it @ iR 39 a1€ udah 5, 10, 15, 20, 25, 30 s &

HRTA R FoTelt @il &1 fohae Tehs & a1 & R & wan 91y Foiil?
75 1.240
o 2300
75 3.250
/X 4.600

Question ID : 54592722106

Q.16

Ans

Qs aAfeh STu-t Hufxy &1 41% oo i de Afga, e sk emeie d 11: 13: 17 & siquia &
giear g1 af Afga ik e & o= a1 ahT 72000 ¥ .81 =fwh 6 Aw dul 7 Fifsigl

75 1.1,23,000 z0@
/5 2.1,96,000 30
/< 3.3,00,000 Fu@
o 4.1,77,000 75

Question ID : 54592722112

Q.17
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2T B #, 91 A Fir e # 82 % 310w J@ §1 AF 2% AT ATgan & IR B A, A Fir g F25%
Jiferh ST 531 J9 &1 T AT DRdT F el ST 3T AT 32.4% §1 B A TS5 g€ F9 F1 gfderd wa
Fifar|

Ans

Question ID : 54592722114

Q.18 Wah =afh & 500000 Fud F Ueh T1deh 3R Yeh R WAL I ATSeh Y 20% 19 3R FR i
10% BT TR 34T 3R $9 UhR 39 QR I # 5% ohT ATH HHTAT| AT T sHT Jo AT He?

Ans X" 1200000 o
o 2. 250000 =
/< 3.180000 ®&
75 4.150000 ¥

Question ID : 54592722116

Q.19 fig, g iz fig o1 sftwra ao= 26 frettum 81 Rig, de o1 siiea asr 28 fareium ofik filg iz
fég @t sitwa st 23 foretum 81 fig T as = 82

Ans X" 1255 fheitum
75X 2. 28 fneitumm
75 3.21 fheitum
o 4. 24 frcitom

Question ID : 54592722109

Q20 oxbar: T gt 2 geeTaras Fieg (7) % T 9K FATHATAIR
(V14.44 -2.5P +1.69=2
Ans X" 1225

W2
K315
X 4.24

Question ID : 54592722104

Section : Arithmetic Ability2

Q.1 Uk Irad Fi vars 3R TSt a1 Srgurd 5 : 2 @ aur aRfY 70 I &1 smaa o1 duhe fohae 82
Ans X" 1150 af aeft
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o 2. 250 =i &f
/X 3.200 aif At
75 4. 400 oif Ay

Question ID : 54592722132

Q.2 U R Fl 7, g TR ¢ Y 1fa Y 2 T @1 afy wR 85 st ufay € iy wfey & o et @
at 935 foreft gt T Tt F G¥iSR &4 SR R gRT fAg ¢ w99 & i @ siar fhamT 82

Ans  of 1 11

X 2.5
X 3.8
K 4228

Question ID : 54592722125

Q.3 TR A & adf & g aryRor saret i gen AT &R uR srorg @ dun IuR foran ok &t ad & g
aIfteh ®u & Tehqgfes st : 5 ST Saifoid fahar s 8, i 99 &R ur =g &) 3ur feam
gt avf & i # I§ Tshgfes TSt 1230 FUd AT 3R 1200 TUD T HIROT AT T WA
foram 1 =gret &t AfA 3R &7 TG HifSigl

Ans X" 1.12000 ®ud, 8% ufd af
o 2. 12000 w0, 5% ufy af
75 3.15000 ®ud, 8% wfer atf
75 4.10000 =9, 5% ufd af

Question ID : 54592722123

Q.4 ek it a1 3mamd (UfkATor) 150 x 80 x 120 cm &1 Af vk eafwh st 200 9 I+t gar
SMTaRYehdT gidl g, fhal aafh gl A s epa & ?

Ans  of 17200
#< 2.7250
/< 3.7300
75 4.7150

Question ID : 54592722130

Q.5 IR Gl & U 17: 20: 23: 26 & U # 997 81 IR A | Qoh Afwh & U =7 I g o
6000 U SaTaT 3R @R il g1 A 3000 A &1 TRI & U Fed AFA AT QI

Ans X" 1.1,72,000 ®ud
75 2.98000 =
o 3.86000 =
75 4.43000 =9

Question ID : 54592722119

Q.6 fAdar: v 3l 2 &Y 3w g, STt Uk SETa | g4 &1 I &t ufa A1 rue uidhe w+ft F ®u A
5000 &. fAeTd & ofiR oftef il ufa w1g uidhe 7+ & =9 & 6000 +. fAera & 1 19 3R oftef & @=f
Y et ARG | g2avar T4 gl
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sitd &1 @
o, B%_
Tl THEAT TehaT,
21%
TEEE 18%
HE 14% __#w, 23%
o, 11%
- HiaS, 8%

FR & o SR A9 uR W R 21 g v 71 sftwa @t & dfie forae sier @7
Ans  of 1 640
/X 2.784
/X 3.586
X 4.720

Question ID : 54592722133

Q.7 Qe Hehst 20 e & Ter tiet & SR 10 Hie® da gad) @ iz 3¢ &fo1 2 fier = s ot @1 af
et & ofief ur e # 3 €2 ara € at uter Y Fars 7 w1

Ans  of 1 747
/X 2,90
/X 3.80 =
X 4. 72

Question ID : 54592722128

Q.8 Uk ufA 1 AN 40% Tehefeg =amot, Sit g 6 A A it waifSia favar smam, o= forar w1 &1
gfE 3¢ af & oid d AN Fud 2,16,000 g, at AFA 71 FifSiQl

Ans X" 1.1,50,000 0
75 2.1,10,000 ®uF
o 3.1,25000 =@
75 4.1,40,000 ®qF

Question ID : 54592722122
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Q.9 Sifq freft o At 9 R & g1 R Tewa &, STafh Ry ok i ues 1 A 6 Ra 7 & v
! ORT & Tehd & | fRY aht a1chet o1 ohl ORT et | fohe=IT |9 wio?

Ans  of 1 18fm
X 2.36RA
X 3.54R7
X 4.15Ra

Question ID : 54592722129

Q.10 =RUT, 3R ¥ 16 a9 BeT &, STafh W=, TR & 10 a9 721 &1 6 avf a1 =RoT Hi 311Yg 1 SIguTa
3R 14 af g wRa Y g & 4 : 3 &1 3R Y FdHE g 71 HfSQI

Ans X' 1 54ad
X 2. 62

W 3. 50af

X 44498

Question ID : 54592722120

Q.11 fra= a¥a & ges & 90 foret ufer w2 &t wifer & |rer 9000 Hier Fi gt &t g wfi?
Ans X' 1 04

X 2038

o 301

X 402w

Question ID : 54592722124

Q12 AT 3RAA g aar g, BIH wrd st 4 A F iR C, 5 R A R aman g1 F arft ardt &
T X &, Ugd T A, g 33 B ok iR R € ofR T A 5t g ot ohrf v R wome
ghmr?

Ans X" 1.3
K25
75 3.2
v W

Question ID : 54592722127

Q.13
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frder: o 9 = RAfdesr Aot & R 5587 s=es gfer 21 7%
FT FeTTT FT T2 & 3eaT &
Toe

Hyrn gy #tn Bpyw ot twa Eym San
Sr:1: 15 1 3 WEfia & arel aEge E

Ans X' 1. ggd 3R W e e
25 2. a1 SR veger HiT
o 3. veer i o e

/X 4. vemer Wi ok o

Question ID : 54592722135

Q.14 fEsar: fAfafEd usil & IR, 1990 § 1995 & fiw Ry 7y fadht efeitar aR-T1E & MR W)
RfSw

fasft goRY oo A

500

400

300 -
200
100

0 - T T T T T
15990 19491 19492 19493 1994 18585

1991 &t ger=m & fahr, 1995 & fha=ht smer ofi?
Ans X' 1 zg arE v
X 2. gmdrEnd
/X 3. s Eud
W 4 o o T

Question ID : 54592722137

Q.15 gt &R P 31k Q g1 foigail shasr: A 3R B & e &) v Teielt § fo=ah ofta fr gt 240 fnef. 1 af
el PR RER Arda R A gt a2 R ag Mo & siR ol S Fr g gl feamd (A &
B &l aR) et € dt P, Q & 8 ©? a1, Al 8, R P Y nifa e &2

Ans  of 1 75 fmf/der
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25 2. 80 farefiysier
/X 3. 60 feefi/ser
75 4.70 feefysier

Question ID : 54592722126

Q.16 4: 5 & IrguTe & &) Y=RIRAAT &1 94T 5 T Y 1af & fAg IR ff et &)1 S ehdt R =St
H R 4: 5 % rguTd | g 3R ST IhHT UR T WIUROT <41t 12300 9 &1 &t AfA4T oR Aoy
=TSt # 3R Rl UdT g |

Ans X" 13200 ®ud
o 2. 2700 =
75 3.1800 &
/X 4.1500 ®0d

Question ID : 54592722121

Q.17 A, Ueh TOAThR Aer ot faervfa: 40 /e Y 1fd ur A & 30 Sehs A1 @, 3R B, 56 ./
e i nfar @ @t Y 3o D gl 91 & Ia1 € IHT AT g1 A5 1 A% @

Ans X" 1154 af ofier
5 2. 132 fi
o 3. 192 af iz
X 472 d @i fw

Question ID : 54592722131

Q.18 fAZsar: daet o1 srema & A=faf@d usi & s §fSg-
foreht shu=it grT fAfefa anfai asfi= oz hoker Y T

3 2005 |2006 |2007 |2008 | 2009
T80T Fafer | 14400 | 20500 | 12800 | 16400 | 18600
YReorrex | 12500 | 24700 | 15200 | 20200 | 14500

2007 # ffefa ifForest &t Tt 2006 # A S @ et ufaer & oft?
Ans  of 1 22
X 2.30
/X 3.28
75 4.26

Question ID : 54592722134

Q.19 fAZarn: AT SR WRa & Ui S, et 3R JSels gehT-l chl HEAT i g2AfdT 81
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190
180 180
P, i
170 i
160 -
150 156
e \\145 Ny

=139
130 \
110 -\"& 111

lm T T T T 1
A B C (] E

aoft 5 2redt F e arer arer Y gl Y affe de R 27
Ans  of 1 142

X 2.135

/X 3.161

X 4.137

Question ID : 54592722138

Q.20 fAEer: fAafaf@a ard @) g IR E:

B = oo o e v oy (arw ww )

-ﬁ'mtmzfﬁﬂaraﬁ‘r s qffr (e T )

600
EDD | SEHJ 52
500 460
375 400 420
400 300 33
o 300 - 200 2125
E 200 1 12
= ﬂ
D -
1995 1996 1997 1998 1999 2000

EL

1996 # & farset atf i o= A G AT W ford 74 Fdar A fraei ufaera 9fE §%?
Ans X" 1,82 50 wferd

25 2. 50 wfazr
o 3.87.50 ufer
75 4.62.50 ufazia

Question ID : 54592722136

Section : General English1

Q.1 Identify the segment in the sentence which contains the grammatical error from the given
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options.

A number of worldwide shark attacks has grown at a steady pace since 1900.
Ans X 1.since 1900

X 2. has grown
x 3. worldwide
( 4. A number of

Question ID : 54592722140

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

The Samoan islands are fast sinking than expected due to global warming.
Ans X" 1 are fast sink

J 2. are sinking faster
X 3. No substitution required

x 4. is sinking fast

Question ID : 54592722144

Q.3 Select the most appropriate word to fill in the blank.

Images in the media can shape how people see each other,
consequences that impact us all.

Ans X" 1 leads
o 2. leading
/X 3.led
x 4. lead

to bias and

Question ID : 54592722155

Q.4 Select the most appropriate word to fill in the blank.

No matter where you go and what type of safari you
Ans X" 1 chosen

x 2. choosing
X 3. chose
J 4. choose

, timing is the key.

Question ID : 54592722156

Q.5 A sentence has four parts, rearrange the given parts so as to form a meaningful sentence.
A: A day to celebrate all fathers
B: what began as one woman's

C: tribute to her dad, turned
D: into a life-long mission for

Ans  of 1 BCDA

/< 2. ADBC
75 3.ABCD
/5 4.BDCA
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Question ID : 54592722158

Q.6 Select the most appropriate word to fill in the blank.

Photographers have been
the Mount Everest.

Ans X" 1 pushing
J 2. striving
X 3. defeating
x 4. thrusting

to take iconic pictures of the world’s highest mountain,

Question ID : 54592722151

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

Somehow, the sea turtles has survive the ice ages and the extinction event.
Ans ( 1. have survived

x 2. had been survive
X 3. have survive

x 4. No substitution required

Question ID : 54592722145

Q.8 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

Hyenas might have a bad reputation, but they are one of Africa's most successful predators.

Ans x 1. much successful predator

J 2. No substitution required
x 3. more successful predators

X 4. most successful predator

Question ID : 54592722147

Q.9 Identify the segment in the sentence which contains the grammatical error from the given
options.

If we doesn'’t plant trees, there may be nothing left for our children.
Ans J 1. doesn't plant

X 2. our children

/X 3.1fwe
X 4. nothing

Question ID : 54592722141

Q.10 Select the most appropriate word to fill in the blank.

A tiny, old star, just 12 light-years away might
new study has found.

Ans X 1. supply

x 2. parade

two rocky planets, astronomers and a
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J 3. host
X 4. cluster

Question ID : 54592722154

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

Encounters with the big fish are rare, but it can be deadly.

Ans X 1. No substitution required
J 2. but they can be

X 3. as they are
x 4. but it can't be

Question ID : 54592722148

Q.12 Rearrange the following sentences in their correct order to form a meaningful paragraph.

A: We have hunted them, snagged them, hit them with ships, and choked them with plastic
bags.

B: The risks facing the seventh, Australia's flat back, are less clear.

C: And yet, somehow, these creatures survived ice ages and the extinction event that wiped
out the dinosaurs.

D: As the world struggles with diversity loss, six of world’s seven species of sea turtles are
considered threatened or endangered.

Ans " 1 ABCD
o 2. ADBC
75 3.ACBD
#< 4.DBCA

Question ID : 54592722157

Q.13 Identify the segment in the sentence which contains the grammatical error from the given
options.

Eyebrow movement playing a major role in human communication.
Ans J 1. playing
x 2. human communication

X 3. amajor role

x 4. Eyebrow movement

Question ID : 54592722139

Q.14 Select the most appropriate word to fill in the blank.

Lord Brummell became a symbol of a new masculine style, one that still
people dress today.

Ans X" 1 observes

“ 2. dictates
x 3. assigns
X 4. predict

the way
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Question ID : 54592722153

Q.15 ldentify the segment in the sentence which contains the grammatical error from the given
options.

In total, there were around six orcas spread off in groups of two or three
Ans & 1 Intotal

x 2.two or three

J 3. spread off
x 4. were around

Question ID : 54592722142

Q.16 ldentify the segment in the sentence which contains the grammatical error from the given
options.

Though leopards look fearsome, they avoid humans and can be tricky to spotting
Ans J 1. to spotting

x 2. they avoid

x 3. Though
X 4. look fearsome

Question ID : 54592722143

Q.17 Select the most appropriate word to fill in the blank.

Every few yards, he digs a shallow hole in the rich, red soil and the leafy sapling of

an ebony tree.
Ans X" 1 stocks

J 2. plants

x 3. establish
x 4. introduce

Question ID : 54592722149

Q.18 Select the most appropriate word to fill in the blank.

Tiger and bull sharks are two species often found the coast and are known to bite
people.

Ans X 1.in
/X 2. across
o 3.along
/< 4. aboard

Question ID : 54592722150

Q.19 Select the most appropriate word to fill in the blank.

A study has found that dogs are uniquely skilled understanding gestures.

Ans &K1 off
J 2. at
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/X 3.in
X4. of

Question ID : 54592722152

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, elect option No substitution required.

The total number of plastic toothbrushes being produce, used, and throw away each year
has grown steadily.

Ans ( 1. being produced, used, and thrown

x 2. being produce, use ,and throw
x 3. No substitution required

x 4. been produced, used, and throw

Question ID : 54592722146

Section : General English2

Q.1 Select the meaning of the given idiom.

A white elephant

Ans ( 1. An expensive item that is troublesome or useless
x 2. Arare sight
x 3. Areasonable purchase

x 4. A thing considered to be precious

Question ID : 54592722170

Q.2 Select the word which means the same as the group of words given.

Extreme or irrational fear of the night or of darkness.
Ans X" 1. Hydrophobia

x 2. Chronophobia
J 3. Nyctophobia
x 4. Acrophobia

Question ID : 54592722172

Q.3 Select the meaning of the given idiom.

A square deal

Ans J 1. A fair and honest transaction
x 2. Improper Conduct
X 3. Areasonable argument

x 4. A false arrangement

Question ID : 54592722168

Q.4 Select the wrongly spelt word.




Ans

( 1. Impateint
x 2. Thoroughly
x 3. Particular

x 4. Fortunate

www.HaryanaJobs.in

Question ID : 54592722165

Q.5 Select the synonym of the given word.

Remorse

X 1. Pleasure

x 2. Confidence

( 3. Regret

x 4. Decency

Ans

Question ID : 54592722162

Q.6 Select the word which means the same as the group of words given.

An independent person or body officially appointed to settle a dispute.

Ans

x 1. Curator

J 2. Arbitrator
x 3. Amateur

x 4. Referee

Question ID : 54592722173

Q.7 Select the meaning of the given idiom.

In Black and White
x 1.In a copy of two
f 2. Written down or in print

Ans

x 3. In a verbal communication

x 4. Lacking imagination

Question ID : 54592722169

Q.8 Select the antonym of the given word.

Boost

x 1. Increase
( 2. Decline

x 3. Memorize

x 4. Exclude

Ans

Question ID : 54592722161

Q.9 Select the synonym of the given word.

Impolite
Ans
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75 1. Reasonable
x 2. Humane
75 3. Fair
o 4 Rude

Question ID : 54592722160

Q.10 Select the word which means the same as the group of words given.

A room or building in which dead bodies are kept
Ans X" 1. Postmortem

J 2. Mortuary
x 3. Funeral

X 4. Obituary

Question ID : 54592722171

Q.11 Rearrange the following sentences in their correct order to form a meaningful paragraph.

A: At first, years ago, it was just an occasional piece of plastic trash that Kahi picked up on
the beach cleanups.

B: But one day Kahi spotted something particularly surprising in the beach cleanup: a
toothbrush.

C: A straw here, a takeout container there.

D: Now, in any given Hawaii beach cleanup, he says, it's not uncommon to pick up 20 or
even 100 toothbrushes.

Ans X 1.CBAD

/5 2.CDBA
o 3.ACBD
/5 4.ABCD

Question ID : 54592722159

Q.12 Select the wrongly spelt word.
Ans X" 1. Inhuman

x 2. Summarize
x 3. Receptionist
J 4. Rediculous

Question ID : 54592722167

Q.13 Select the synonym of the given word.

Bizarre
Ans J 1. Unusual

75 2. Similar

X 3. Dependable

X 4. Ordinary
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l Question ID : 54592722164

Q.14 Select the wrongly spelt word.
Ans ( 1. Expecially

X 2. Specially
x 3. Specialist
X 4. Specialization

Question ID : 54592722166

Q.15 Select the antonym of the given word.
Imprison
Ans X 1. Occupy
x 2. Compensate
X 3. Enslave
«. 4. Release

Question ID : 54592722163

Comprehension:

Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth's atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun'’s heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 16
Q.16 In the given passage, the earth’s atmosphere is being compared to:

Ans " 1. Volcanic eruptions
x 2. Black Dust
X 3. A cooling agent

« 4. A greenhouse

Question ID : 54592722179

Comprehension:
Answer the questions based on the following passage.
Global warming is the slow increase in the average temperature of the earth’s atmosphere

because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.
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The earth’s atmosphere has always acted like a greenhouse to capture the sun's heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 17

Q.17 Select a suitable title for the given passage.

Ans ( 1. Understanding Global Warming
x 2. The greenhouse gases
x 3. The Earth's Atmosphere

x 4. Climate change and its impact

Question ID : 54592722175

Comprehension:

Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’'s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth's atmosphere has always acted like a greenhouse to capture the sun’s heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 18
Q.18 The passage describes ‘opposite problem’ as one of the following:

Ans x 1. Temperature of the earth is low
, 2. The fact that too much sun warmth is being trapped in earth’'s atmosphere
x 3. Too little sun warmth is reaching the earth

x 4. The earth's atmosphere is stable.

Question ID : 54592722176

Comprehension:
Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth's atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
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trapped in the atmosphere and not radiated out into space.

The earth’s atmosphere has always acted like a greenhouse to capture the sun's heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 19

Q.19 The passage is most likely to be taken from:

Ans x 1. A weekly magazine
x 2. A newspaper
( 3. A science Journal

x 4. A research publication

Question ID : 54592722177

Comprehension:

Answer the questions based on the following passage.

Global warming is the slow increase in the average temperature of the earth’'s atmosphere
because an increased amount of the energy (heat) striking the earth from the sun is being
trapped in the atmosphere and not radiated out into space.

The earth’'s atmosphere has always acted like a greenhouse to capture the sun'’s heat,
ensuring that the earth has enjoyed temperatures that permitted the emergence of life forms
as we know them, including humans.

Without our atmospheric greenhouse the earth would be very cold. Global warming, however,
is the equivalent of a greenhouse with high efficiency reflective glass installed the wrong way
around.

Ironically, the best evidence of this may come from a terrible cooling event that took place
some 1,500 years ago. Two massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little sunlight could penetrate. Temperatures
plummeted. Crops failed. People died of starvation and the Black Death started its march. As
the dust slowly fell to earth, the sun was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem is not that too little sun warmth is
reaching the earth, but that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the temperature of the earth is going
up faster than at any previous time in history. NASA provides an excellent course module on
the science of global warming.

SubQuestion No : 20

Q.20 From the given options, choose the one that is most similar to the word ‘Radiated’ as used in
the passage.

Ans X" 1 Propagate
x 2. Broadcast
f 3. Reflected

x 4. Circulate

Question ID : 54592722178
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Q.1 399 O FI9-97 2k ‘T’ o1 gafaarh T8 82
Ans o 1 v

75 2. @

/X 3. @

X aum

Question ID : 54592722192

Q.2 SrSaif= &1 T S &

Ans X" 1 et &Y amT
75 2. mger & e
o 3 gz e
< 4. dedram

Question ID : 54592722193

Q.3 & o fAeiw e 8:
Ans B amésr
o 2 a

/X 3. offt
75 4. fea

Question ID : 54592722191

Q.4 f=foafle d @ FiF-ar g g e g2
Ans X 1 f3feaw

75 2. afhgur

X 3.

o 4. veR-ameTor

Question ID : 54592722194

Q.5 ==Y FRe Hl g e:

Ans 1.3
X 2.3 g
X 3aw
¥ IR R

Question ID : 54592722197

Q.6 fA=fafEd ar el § @ (39) U=g &1 999 R
Ans X1 R

X 2%
/X 3. fem
W 2@
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Question ID : 54592722190

Q.7 3R 2w e Rea wum &t gfd fifsq)
F__ (oifEl & amR) ag WA g9 Tl
Ans X" 1. gueRer
/X 2. ufgfe
o 3 v

X 4. sita- T

Question ID : 54592722189

Q.8 it fatwor fareft avg it 7N, gwi, ATUAt @1 e I & I el ST 8
Ans X' 1. TeHmarae faor

75X 2. Torarers fasiyor

of 3. afroraTes fashor

/X 4. TR fagtor

Question ID : 54592722199

Q.9 fFr=fafla d & ‘Fagt fora af o arez 87
Ans &1 faRsh

X 2. aw

X 3.aga

o 4 2

Question ID : 54592722180

Q.10 g ek
Ans X" 1. gugars
75 2. gegaras s
o 3. sfares v

25 4. vraarad

Question ID : 54592722184

Q.11 fA=afafEa & @ fora areg &1 oref 'ow' @2
Ans X 1. 3R

K 2 3@
X 3. st
4. s

Question ID : 54592722185

Q12 ‘Wt & - v 7
Ans X1 Rt af




X 2 et
W 3. st
X 4 w=ER
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Question ID : 54592722182

Q.13 ofifa' 2rez ot o o1k @2

Ans

X1, AR
W 2 dar
X 3=

X 4t

Question ID : 54592722186

Q.14 M & 9 &:

Ans

F R
W 2z
X 3d=
X 4.9

Question ID : 54592722198

Q.15 fA=fafaa d @ R 2reg &1 uain 92a Yehae & giar &2

Ans

X 1.
o 2 s
X 3.a
X 4.5fg

Question ID : 54592722196

Q.16 fa¥em 2reg & GEA g1

Ans

X 1. Ry THE
W 2 e

X 3.gg o™

K 4. et e g

Question ID : 54592722183

Q.17 SHrERY g & uegd g1

Ans

X1
o 2@
X 34
F X

Question ID : 54592722181




Q.18 fA=fafEa & @ 'uit & wafgear 7&f 22

Ans & 1 afeoft
75 2. ggufifoh
of 3. afoft

< 4wt
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Question ID : 54592722187

Q.19 31 ol faeie ereg 87
Ans X' 1 g

< 2. smger

X 3. orggert

W 4 e

Question ID : 54592722188

Q.20 fF=fafEa d & w4-41 21g G gieei 82

Ans &1 g
K 2.7
X 3l
W 4 w0

Question ID : 54592722195

Section : General Hindi2

Q.1 'TITet GeATIT FeTerR ot o1 aram 82
Ans  of 1 wsTT

25 2. wfedma g
/X 3. =TT
X 4 e

Question ID : 54592722209

Q.2 Fr=fafda d @ ‘waear & agaaa & aan giar g?

Ans «1@@@
/X 2w
X 3@
X 4w

Question ID : 54592722205

Q.3 F=fafaa 7 @ b-a1 g aa 87
Ans X" 1. e 7 St
o 2. v @ de
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75 3. thoget st
/X 4. Aeret 7 et

Question ID : 54592722203

Q.4

Ans

U, &, d, ¥, 7 T STIRUT &:
X 1.ds
X 279
o 3 ¢t
X 4

Question ID : 54592722200

Q.5
Ans

Frafafaa & & 'gur o1 agae= =q Far giar 8?
25 1. et
V 2.5
X 3.7
X 4. g

Question ID : 54592722204

Q.6
Ans

ST foReft 2reg vt sremT ST @ At agi o v fovan s @1
25 1. gof fawm
X 2. s R
/X 3. R R
W 2. oof R g/ 3o v g

Question ID : 54592722212

Q.7
Ans

Frafafaa d @ wie-ar g T 8?
75 1. Tmifd A gerafd 38 93 &1
/X 2. T a8 Ferfd @ g 8
o 3 TR geof &

/X 4. T @t gerafd @ g 8

Question ID : 54592722202

Q.8
Ans

o} IRE EHAT HeTaR o o T 82
X 1. 757 spar
X 2. A8 A& S
75 3. BR &R HAT ST

W 4. g3 o o e

Question ID : 54592722210

Q.9

ST A3t AT et Ug arer 39 fohT TR ST 82
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Ans X 1. e are
o 2. ffa ar
75 3. Wgarae arw
X 4. dgad

Question ID : 54592722201

Q.10 3T dfieiR- ST IR’ Flhiih T 372 T &2
Ans X 1. méY F nifder g

/X 2. ofte gorg) AT

o 3. 3gwaa

/X 4. SreT-are g

Question ID : 54592722207

Q.11 &Y, e, faeTa, weon, gon, aratu=, g el & a8 uge gia arar R g wgera &:
Ans x 1. 3geRu g

W 2 Rl R

75 3. vsare g

/X 4t R

Question ID : 54592722213

Q.12 ‘IR ar a¥et ' AeRin T ord 82
Ans  off 1 Rvdia wrf e

75 2. 3o e IR @ e
X 3. g
75 4. 3o e e

Question ID : 54592722208

Q.13 579 & g9 UE Shi9-41 87

Ans x 1.
v 2
Ko
Ko

X

Question ID : 54592722214

Q.14 31" Tgl w11 38 &2 9ref Y g & v uepR ot arara @7
Ans X" 1 faftrarae

7% 2. seomEmEs

o 3. v

/X 4. g arn

Question ID : 54592722206
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Q.15 579 & sigfRm i=-w1 g 87
Ans (1,;

KZ.:

X3,

K 40

Question ID : 54592722211

Comprehension:

Tep TeIier foam T &1 werier & SR WR uta vy oy 7T 1 eI Y eagdes U T ek UM H IR
faenedt 7 © 9! faened g1

"9 3TTasf Sfiee &1 7o H &1 AR RIV-HAAaT gRT Uofid d5-2meil # 99 & Hed ol [IaR fhaT g1
i AETIEY T STy Wf-Bie-8-BI¢ T ol IS8T a1 ST &1 I & TR § AR 3111 Jeh AFE =
OReR uferd aneeh &) 31um ferehTer ol U U foha &1 31TeT GER & St e off ot & %@1 8, a8 gaa
U T thel &1 TOR h ford= off 3=1d SR TG amel] 321 8, S Fareh die uRem a1 8 smer 81 fgdha
19 gg 7 STUH Y AT TET-Tey e AT ATl I &t 9 S TR BRI ofk Anmanhy s
R T Weg: AT 3§ T &, TR 31157 SITUT faRa ol G 31fdeh Tuw— 287 € a1? 39ahT fAth Ueh IcdR &
Had, IR 3R TATH | TER & Ae™ & Hg™ &fth = SUHT Sfiad agd B¢ §U 4 & fohd &, wifd St
¥R STUR RS TR § I & TRA @R R Ugd Y| T at 98 & foh TR & 9 ofk #7gm @ A
Ste 7 B¢ §-Stel THSH S ater s oft O & SR sigT & foha foa § 1 9eT g1 arett et aeforT
B UOR T T St I QAR WR ST UdTent thexl GehdT & | TS a1, S1efed feieheT, afm, mieh
IR TR & IR AN R 9 &3 6 gl Ugd o o | [helt oiaes 3 g § "afe g St o
T &THAT € T STO AT 1Tkl o Shivsd X U Ig-F I gfef & f4za gt s, amerait ofk foxtet &
Tgfid 7T 6T TheldT JER TRT T |

SubQuestion No : 16
Q.16 'STTYUR’ 2K A UYe ‘3T SATRRI0T Fife &:

Ans X' 1 yag
X 2. %R R
X 3. gafarh
W 4 suat

Question ID : 54592722220

Comprehension:

Qe TR AT 7T 81 IR o SMYR WR Ufd U f&Q 7Q | Terier ol eagden Ué a1 Uidh U # IR
faenedt § © T faened g1

"9 3TTaef Sfiee &1 e F &1 AR RS-t gRT Wofld ag-2mil # 91 & Hed ol WIahR fhaT 81
sfel AETIEY o STYd Wf-Bie--BI¢ S ol TS a1 ST &1 I & TRY § AR 3111 Jeh AFE =
FAReR aRerm ohedh €1 91t ey ot U U= ok @1 ot TaR & it o off s & g1 8, @8 gad
TR T thel &1 TR & forde off 3=1a 3R Tgamell 321 8, S Taeh die uRem a1 & smemr 81 fdfa
T geg 7 STUH A ST TEG-TeT B T ATl ITH &t 9 S TR BT fR ArmEThy 9oy
R T Weg: AT 36 T &, TR 31TST SITUT IR ol G 31fAeh Tuw— 37 € a1? SYhT fAth Ueh Icad &
Fad, uReM SR T | SUR & AgH @ g cafth A 70T Sfia- 9gd B¢ ®U § 7 fohar 8, dfed Sfta
¥R TR URHH R § I & TR @R R Ugd Y| Tt 7 & ok TR & 9 ofk Hgm @ A
Sfed # B¢ A-BieT GHE S ara Rt ft O T SR 91gT § foha foham 81 die1 & arel et a=forT
B UOR T T St I QAT WR ST UdTent thexl ehdT & | TS a1, Sefed feieheT, aAfm, mieh
3R TR & SRR AT FARaR 97 eeh &1 ol Ugd 9oh o | fohel! aiaen 3 gl & “afe grd Igaiht a4
Y e & aF ool I iR Rt hfrd R ST 32T Y fet | v gt Smen, aemedt ofik faktet @
Tgfid 7 T8 TheTdT JFER TRT T |

SubQuestion No : 17
Q.17 34T 3/ & GhedT 9184 a1 a1t @i &:

Ans X" 1. cpafarét
W 2. srereion st
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p SRR
75 4. sieprfug dafaréy

Question ID : 54592722216

Comprehension:

Tep TeIier foam T & 1 iR o SR WR utg Uy ey 7Y 1 eI St eagde U T ek UM H IR
faereat & & @@l faehed g1

‘o’ 3Tesf A ot gt # &1 §HR -] gRT Uufid da-Mll & 977 o Hgcd i ©ienR fhar 81
e ARTIEY T 31y Wf-Bie-8-BI¢ ST ol IS8T a1 T &1 JIT & IRY & AR 3111 Jeh AFE =
R aRerm aeh €t 31U faehra e ue U fohaT 1 it 99 & it g oft s 2 %7 @, a8 Tad
RS I thel &1 TR & ot ot I=1d SR g eretl 321 8, 37 Tach s UReH ol g SuR 81 i
429 g 7 STUH Y AT dTET-Te o AT AT I & 7 eI TR fBRifrAr ofRk Armanhr s
AR § TSgR AT @ T4 &, TR 3ATST SITU e ol Gard 31fereh Tu—T 327 & T1? S9ehT fAth Teh Scd &
T IR 3R TaTe | SR & g ¥ HgH edfth A S0 Shia- Jgd Sic &0 ¥ {7 [T &, Aifehd Stias
R ITUR TRIH TR I & TRA AR R Ugd Y| T dt Ig & foh TR & 7 ofR #7gH @ =
St & B¢ A-BleT THe S arelt wrf oft O T SR o1gT @ foha foham &1 dier e arelt et aafoi
B TUR T Ta St T GaRwe WR ST UdTehT thexT ehdT & | U a1, STefed fofdhd, A, e
3R TR o 3 & FARaR o1 ch &1 el Ugd Udh ¢ | fohell oiaeh = gl ¢ “afe g Iganht o=
T e & Y oot Y 1k et hfwed e a1 IeRd Y gfd # v & e, ameredt ofik et @
T AT TG FheTdT JER TRUT T |

SubQuestion No : 18
Q.18 WRd ol faerfara 221t A 1 819 T FRUT &:

Ans X" 1 wiiiferes g
X 2. e saeRen
W 3. 57 % i Fereiean
X 4. aehifes weed

Question ID : 54592722217

Comprehension:

Tep TeIier foam T &1 werier & SR wR utg uy oy 7T 1 eI Y eagdes U T Uk UM H IR
faereat & § @@l faehea g1

'Y’ G Sfa Sl gd 7 &1 §AR K- gRT Uufld d6-2meli § 97 & Agd Gl WK foha g1
i AETIEY T 31y Wf-Bie-8-BI¢ T ol IS8T a1 ST &1 I & TR § AR 3111 Jeh AFE =
foRaR aRerm aeh & arum e ot ue U fohan 1 oot 99 # it g oft s 2 %@ @, a8 Tad
U T thel &1 TR & forda off 3=1d SR Tgamel] 321 8, 3 Tareh die uRed &1 & s g1 fgda
139 g 7 STUH Y AT TET-Te e AT AT I & 9 Sienfies TR BRI ofk At s
AR § Tege AT @ T4 &, TR 3ATST ST e bl Tard 31fereh Tu—T 227 & 12 S9ehT fAth Teh Scd &
Had, IR 3R TATH | TER & Ae™ & Hg™ &fth = 30T Sfiad agd B¢ §U 4 & foha &, wifdi Sfae
¥R STUR TRH TR 3§ I & TRA fAER R Ugd Y| T dt I8 & foh TR & 9 ofk #7gH @ =
Shtem & B¢ A-SleT THe S arelr wrf oft g T SR s1egT @ foha fovam &1 aier e arel gefY aafoi
B UOR Y T St 91 QAR UR ST UdTent thexl SehdT & | GHTSaw=: a1, Sefed feiehT, aAfm, mieh
IR TR & IR AN AR 9 &3 6 gl Ugd 9o 6| et oiaes 3 g § "afe g gt &
T &THAT € T STO A 1Tkl T hivsd Y U I3 I gfef  fza gt e, amerait ofk fortet &
a7 d IGT FherdT greR TROT T |

SubQuestion No : 19
Q.19 ‘U=’ o1 3R faeiw arez &:

Ans X 1 e
X 2. sifdem

/X 3.

W 4 fu=

[ Question ID : 54592722219
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Comprehension:

Qe TR T 7T 81 IR o SR WR Uid U f&Q 7 |1 TTerier oht eayden Ué aUT U U B IR
et § @ T faened g1

"9 STTaef Sfiad &1 e F &1 AR RS-Ha! gRT Wofid ae-2Tl # 91 & 7 ol WK fhaT 81
sfiel AETqEY o STd Wkf-Bie-Y-BI S ol IS a1 ST &1 YT & TR § AR 3111 Iep A =
AR ufer ohedh &) 3o farehTar ot T e foha &1 ot TOR & it e off Rt 3 %@ 8, 98 Taa
RS 1 el 81 TR & i off 31 SR TG anett 427 8, 39 Tach e URem &l & SmeR g1 e
T geg 7 ST Y ST TEG-TeT B T AT I <t 9 S TR BT ofR ATy srop
TR § Teg? A3 T T &, WR (TS SO fAe ol Tad 3fferes Ju—T 327 & 12 39T fth Ueh Sccdk &
Fad uRem &R T | TUR & A § 78 cafth A 70T Sfia- 9gd B ®U § 7 fohar &, A Sfta
¥R 3T URSH & 3 S1d o I AR IR Ugd 1Y | 9 f g ¢ foh TR & I8 3R 7 &N =
Sitae & BT Q-Ster T0 M arel HRf oft 0 T SR orgT & o fmam &1 St € arent et aafSiT
B TR hT T St I YA WR ST UdTent TheT ehdT & | TS a1, Srsfed fefehT, dfm, mieh
SR TER o 31T < AR 97 hech €1 el Ugd Teh 8| foheft ok = et § “afe; g Igaift o
Y ermrar & aF ool I iR Rt hferd R SR 32T Y fet B v &) Smen, semedt ofk fadtet @
gafid 7 T8 TheldT JFER TRUT " |

SubQuestion No : 20
Q.20 foredt off &1 & TaT=aar & fag st &:

Ans X" 1. anfifer qo=TaT
X 2. enfifen fRsara
W 3.3z Pizea gd aRem
X 4. g srgarn

Question ID : 54592722218






